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NI X29KT 9927 — This implies that there are smaller bricks.

Overview

The X713 sought to resolve the query whether the three o°mov required for
0°1°2%, included the plaster or not. A 7awn in PA17°Y Noon was cited, which
stated that the width of the plank placed above the *12n needs to be wide
enough to support an 1°7X, which is half of a 111°2% of three a°’ndw. This seems
to prove that a 112°2% itself without 70 is indeed three o°rov. The X3 refuted
this proof by maintaining that the 72°2% mentioned in the 7w» in 1217’y may
be a larger 7127 than the 171°2% discussed in our mwn. The X3 continued to
bolster this assertion by referring to the text of the miwn wherein it said ‘a
7127 of three oonow’. If all o102 are three 0°n9v and no more, why does the
mwn need to specify the size of the 73°2%!? This is ample proof that the 71°2%
in 1°217°Y noon is a larger 73°2%; and there are smaller 0°1°2%, which our 7wn
may be discussing. Thus the query remains. n190In will challenge this
assertion that since it mentions a size that proves that there are smaller ones.

mooIn asks:

RN2929 RX2OK7 YHom X»9O7Y RN aN1 — You may ask; perhaps from the
s'mwn statement ‘a half brick of three o°mdv’ it can be inferred that there
are bricks larger than three 'o°nov

7T X7 RPYT Y - What sort of deduction is this?! How are we inferring from
the statement ‘a half brick of three o°rov’, that there are bricks that are less than three
2pomon? Perhaps the inference is that there are also bricks more than three o°m5v; and that
is the reason why the 71wn in P21 specifies a 7722 of (only) three *onou?

N1B0IN answers:

PIXY 13929 Y9 — and the ''1 answers

Wb nIne 1R aR7 - for if there are no bricks less than three o'nou
@ N19173 22N - however there are bricks larger than three oonov

VP2 5752 12 2R - then it is purposeless for the 71w to mention
2om5w '3 Yw ;7392% 921 - a half brick of three amsw

1N TR 7 897 - For the mwn» should have stated

73929 9217 7N XOR — only that ‘and the 177X is a half brick’;

X% 1M - and no more. It should not have mentioned the size of a 712, If there are
only 2°1°2% larger than three 2°15v and none smaller, then -

" If this would be the inference, then the X*y2°x would be resolved; for a 712 is (at least) three o'rov. There
are others that are even larger.

? This assumption will prove, therefore that the query cannot be resolved.

3 If we follow this last assumption, the 73w» in 7217 can (possibly) resolve the query.
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TIVPS W N7 K9 - automatically I would have measured the size

of the plank with the smaller 771°3%; the one of three o°mv. T would not have
thought of measuring with the larger (than three o>nov) 71037 -

RO wADn K91 99817 - since the mwn did not specify the measurement. If
the requirement for a plank is the larger 7129, the mawn should have been specific, to
assure that we do it properly4. The fact that the mawn did state the size of a 7122 proves
that there is indeed a smaller size 31°2Y, less than three o ndv. If the 71wn would not have
specified the size of the measuring 7327, one would have assumed to use the smaller size.
Therefore the 73wn teaches us to use the larger 71°2% (of three o°ndv) for measurement and
not the smaller 73°2°.

Summary
The X713 inferred from the 71w» in 1217°Y that there are also bricks smaller

than three 2°19Y, from the fact that the 7iwn there specified the size of the
brick as three o°rov. If there were no bricks less than three o°rov, and there
were bricks larger than three o°m5v, there would be no need for the 7wn to
specify the size of the bricks. It would be obvious that if the 71wn does not
specify the size, we use the smallest size, that of three 2°dv. We may
therefore infer that the 7wn is teaching us that despite the fact that there are
bricks less than three o°m9v; nevertheless we are required to use a brick of
three o mdv.

Thinking it over

1. When n1vo1n asked that perhaps we can infer that there are larger bricks;
was his intention that there are larger bricks only, or that we can infer that
there are larger bricks as well as smaller bricks?

2. What concept was introduced in Mm»doIn answer, which resolved the
question?

* One cannot argue that the wn» assumes that we will go X1 and use the larger size brick; for the
requirement to place a plank on a ™12 is only a 11277. By a 1127 we generally are more lenient
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